


SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q1.Three solid spheres of radius 3 cm, 4
cm and 5 cm are melted and recasted
Into a solid sphere. What will be the
percentage decrease In the surface area?
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q2.A solid cone of height 24 cm and radius of its base 8 cm
IS melted to form a solid cylinder of radius 6 cm and height
6 cm. In the whole process what percent of material Is

wasted?
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q3.The length of canvas, 75 cm wide
required to build a conical tent of
height 14m and the floor area 346.5

m2 IS..
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q4. 5 persons will live in a tent. If each person requires 16m2 of
floor area and 100m3 space for air then the height of the cone of
smallest size to accommodate these persons would be...
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q5.The area of the iron sheet required
to prepare a cone 24 cm high with base
radius 7 cm is ...
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a) 408 cm2 b) 708 cm2 c) 804 cm2
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Q6. The radius of a cylinder is 10 cm and the
height Is 4 cm. The number of centimetres
that may be added either to the radius or to
the height to get the same increase in the
volume of the cylinder is :
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q7.A solid sphere of radius 6 cm Is melted to
form a hollow right circular cylindrical tube
of length 8 cm and external radius 10 cm. The
thickness of the tube in m Is
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Q8.The base of a prism Is in the shape of an
equilateral triangle. If the perimeter of the
base Is 18 cm and the height of the prism is 20
cm, then what Is the volume (in cm3) of the

prism?
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Q9.The height of a cone Is 24 cm and the
area of the base Is 154 cm?. What Is the
curved surface area (In Cm2 of the cone?
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SSC CGL/CHSL TIER 2 (CRASH COURSE)

Q10.A right circular solid cylinder has radius of base 7 cm and

height i1s 28 cm. It i1s melted to form a cuboid such that the ratio

of its side Is 2 : 3 : 6. What Is the total surface area (in cm?)

cuboid?
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Q11. A sphere Is melted and molded into
solid cylinder. If radius of both solids Is

equal, then find the ratio of total surface area
of sphere to the total surface area of cylinder
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Q12. Find no. of same type of smaller
spherical balls that can be formed from
another hemisphere if radius of each such
smaller spherical ball is 1 /16 th of that
hemisphere?
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Q13. A spherical ball iIs melted to form 63 identical cylindrical
vessels. If radius of each cylindrical vessel 1s 33 (1 /3 )% of radius
of spherical ball and height of each cylindrical vessel is 3cm less
than radius of each cylindrical vessel, then find radius of spherical
ball.
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Q14. A large sphere of radius ‘R’ cm was converted into 64
small spheres of radius ‘r’ cm and then one small sphere is
converted into 16 smaller cones of radius of ‘a’ cm. If height of
cone Is two times of its radius, then find R:a:r.
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